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Question Number : 1 Question Id : 70819118484 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819160601, Both A and R are correct and R is the correct explanation of A

70819160602 Both A and R are correct but R is NOT the correct r_-xplanation of A

70819160603. A is correct but R is not correct

70819160604.

A is not correct but R is correct

Question Number : 1 Question Id : 70819118484 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



£C1p @rer() snmser Qar(HEsuu(HaTarar. e sadm A - aaneylb wipmerm

snyewd R arareyd GO0 OUC (HeTeng.
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Options :

70819160601, wHmbd R gdluen sflunamenes womb R, A -sren sfluner eflenéswomELn.
20819160602, A wmbd R opdlwer sflurarena oerme R, A -daman sflurer eflarésn e
20819160603, A sflwreng apermar R sfluneng jse.

70819160604, 2 NS D pamed R sfluinarg,

Question Number : 2 Question Id : 70819118485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(a) h (Planck’s constant) (i) [MLT1]
(b) E (kinetic energy) (i) [MLZT™ ]
(c) V (electric potential) (i) [ML2T-2
(d) P (linear momentum) (ivy ML21-1T-9

Choose the correct answer from the options given below :
Options :
70819160605, (@) — (1), (b) — (ii), (¢) — (iv), (d) — (iii)

20819160606, (@ — (1), (b) — (iv), (c) — (i1), (d) — (i)



70819160607. (a) — (ii), (b) — (iii), (c) — (iv), (d) — (i)

70819160608, (@) — (i), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 2 Question Id : 70819118485 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U iguwed -1 gy uiligwed -11 o1 e Glummss s,

UL iguwev - I UL 1guwied - 11
(a) h (Qermiud wmmledl) @ MLT™Y
(b) E(@wss oyhme) (i) [ML2T-]]
© V(fer mipssd) (i) ML2T
(d) P(CrpiCam’ (@ 2 psb) (v) ML2I"1T™3

Spssranb eflensefld sflwnarenss Csirb6ls(HdsaLb.
Options :
70819160605, (@) — (i), (b) — (ii), (c) — (iv), (d) — (ii)

20819160606, (@ — (iil), (b) — (iv), (¢) — (i), (d) — (i)
20819160607, (@ — (@), (b) = (iid), (¢) = (iv), (d) — (i)

70819160608, (@ — (iii), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 3 Question Id : 70819118486 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

: 2
70819160609, 10 m/s



70819160610, ™ ms ?

70819160611, 9-8 ms™ =

3 )
70819160612, 27 ms -

Question Number : 3 Question Id : 70819118486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 m hernen il q(F Safl oasadlen oenaay CHTD 2s aalld, safl oamgd aneem b
-'_'l WA L?ll._.! _I # l-lﬂ'l

[ o

@Lsdler Lellldmiy wp@Es wSuL.
Options :

- a
70819160609, 16 m/s”

70819160610, T ms ™ >

70819160611, 28 ms~ <

o | oFi |
70819160612, 27 ms -

Question Number : 4 Question Id : 70819118487 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:

Options :



70819160613, 0-0 €™M

70819160614, 184 cm

70819160615, 148 cm

70819160616, 1> €M

Question Number : 4 Question Id : 70819118487 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qm Lraae @s587as GEmi GCsrseaamwu Gundsrardnry. o&@Epmuden
el 6 cm. gac:&&&@c:&uﬂetl ggmj'lu]fcuafﬂ 504 Hz. GanlssiulL 'fn]n:uLLﬁlac:wa@t-.
gablullen Gousth 336 m/s. posdlie s @Gwmlar Gua mafluld, W] fera)Ganelen
sflun Qurmbsdng. SgluaL essdlie gpubn GCung, SsEpmia 2 da
Bl L sdler syemei(

Options :

70819160613, 0-0 €™M

70819160614, 184 cm

70819160615, 148 cm

70819160616, 1> M

Question Number : 5 Question Id : 70819118488 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e T S
AB +AC + AD + AE + AF + AG + AH,

— s A M
if, AO=2i+3 -4k

A B
H &
G D
F E
Options :
70819160617, 101124 j+32k
e 5 A
70819160618, ~161 24 j+32k

M A A
70819160619, 10124 j+32k

) -"I'-. ‘- _z-:_ . _z:.
70819160620, 01 +247 32K

Question Number : 5 Question Id : 70819118488 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

—F M M A
ABCDEFGH eréitp #0 Usshse darar, om aar Caremsdlad AO0=2i+3j-4k
eraled,

Ty oy gy e oy
AB+AC +AD + AE + AF + AG 4 AH o dlwareupblen g (Hgd ererar ?



Options :

-’:-. . .«._ . ,»\
70819160617, 1011247132k

70819160618, —167 24 j+32k

70819160619, 16724 +32Kk

70819160620, 01 +247 32K

Question Number : 6 Question Id : 70819118489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are revolving round the earth at height
of 600 km and 1600 km respectively.

If TA and TB are the time perinds of Aand B respectivel}-' then the value of TB—TA ’

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options :

3
70819160621, 1-33x 107 s

) ; 3
70819160622, +24x107 s

)
70819160623, +:24x 107 s

70819160624.



3.33x10% s

Question Number : 6 Question Id : 70819118489 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A whmb B 8w @@ senansCanarad apepnGw 200 kg whmib 400 kg Flanmuan
yedl el mbg wanGu 600 km wHmb 1600 km 2 wrsslad &nd e en e,
T, wipb Ty Hdwar PopCw A wHhnd B -a Ay@mee CHID erafld,
Ty=T,=

[ Qar(ésiulLg : yelluler opmbd =6400 km, yellulen flenp =6x10% kg |
Options :

3
70819160621, 1-33% 107 s

) ; 3
70819160622, +24x107 s

o
70819160623, +:24x 107 s

5
70819160624, 33 X107 s

Question Number : 7 Question Id : 70819118490 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819160625, ~ 02 A
70819160626, ~ U043 A
70819160627, ~ 086 A
70819160628, ~ 12 A

Question Number : 7 Question Id : 70819118490 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ 5V Bleangab X wond Y ydrellseflar @naCs @eaeansslubhdng. Dy womb D,
apdluer Quaurer Adlsrar LCur(haear eens. Wearsasdar Gpy Wernaen

X -yereflller @eemasiiulna, Wearsassmd eprasiu@n WarGarm L g8l

iy -
Dy 100
"L}I AN
Dy
% A
I"‘-.l
XY

Options :



~f3 A

70819160625.
70819160626, ~ V43 A
70819160627, ~ 086 A
70819160628, ~ 12 4

Question Number : 8 Question Id : 70819118491 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement II : The side band frequoncies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160629. Both Statement I and Statement 11 are true

70819160630. Both Statement | and Statement 11 are false

70819160631 Statement 1 is true but Statement 1I is false

70819160632. Statement 1 is false but Statement 1l is true

Question Number : 8 Question Id : 70819118491 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ECp @rer(® spmiser Aamh sl (Hetaran.

gamm I: @ 2kHz Gués asms, 1 MHz caridl ensangenit uamGUHDL ofanLILE
Gewwd vweruBssLU[REDS). msmssEs Cameuwmar LLamL gL 4kHz &L,
gamm 11: udstul e fibdeuamaer 1002 kHz whmib 998 kHz 2ys .
Consflu spmseiar uiiumeuiad, Bsd Qurmsswrar doLmws
(a6l (HdEsayLb.

Options:

70819160629. gamm| | womw smm 11 Filumemenal.

20819160630, F-DDI 1 LOMIL Fapmi 1 sllumereney < de.
20819160631, =DM 1 sflwneng spenne samom I s#flureng ce.

20819160632, sapml I sflurang i e saom I sflwuneang.

Question Number : 9 Question Id : 70819118492 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :
Options:

70819160633. Both A and R are true and R is the correct explanation of A

70819160634. Both A and R are true but R is NOT the correct explanation of A

70819160635, A 18 true but R is false

70819160636, ‘* 1 false but R is true



Question Number : 9 Question Id : 70819118492 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£Cp e snmser QaEr(EsUULHdTaner. @6 sabm) A - aeareb Hpmern)
snyewTd R erameyd @HluGLLul (Herensg.

sapm A: daupdlsdled odmer m snlaw datutu@ssn Gurg, 2ibd
Geuiug sensey giubheuddene.

smyenid R : dawulu@sgastd, svdla ferb oflsfsdpg. Cuhsmenb
ga.hmiseflen =g liuenL e, sflwner eflenLanwid Gaih6s(Héseb.

Options :

70819160633, * wHnb R @pfwer &, wHmbd R, A -Gsren sflwrer ellardswmE.
20819160634, A LDDID R flwen &fl, ypamme R, A -danan sfluner eflaésn 2.
70819160635, A &0 <pered R seupnans,.

70819160636, A S DIenE) apanmed R il

Question Number : 10 Question Id : 70819118493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (1) at time t=0 and t= = respectively for the given circuit is :

5} 3}

al

1101 41}




Options :

18E SE

70819160637, 2 18
S5E 18E

70819160638, 18 55

106 SE

70819160639, -° 18

'5E 10E

70819160640, 18 33

Question Number : 10 Question Id : 70819118493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Garpasiul L snible, t=0 womib t= o Crraseile WlaGarm L (i) -ué& sneamns.

502 5()

Options :
18E 5E
70819160637, 2> 18
5E 18E

70819160638, 18 35

106 SE

70819160639, - 18



'5E 10E

70819160640, 18 33

Question Number : 11 Question Id : 70819118494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first linear scale division is clearly

visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options:

70819160641, 1-64 mm

70819160642, -0 mm

70819160643, U-82 mm

70819160644, 180 mm

Question Number : 11 Question Id : 70819118494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ @ saredllar ufsGare Wfley 1 mm wHML el L erellla 100 Gfleysar
2 GiTemen. TG G(F AUT(RERL, FTenLs(End@ @aLCu eassiung Curg, el
Sarelluflen sfwb, @Hliys Camiynes S 8 Afleysar o drargy. @m sblaw
renL&Ens S Cu amaus@n Curs, am CrTaCarl_Au Wfley Qaefleunss
b ) Pl ot \J £

IS i . (P . B oy B A e . — oFe - . 3 g
Cafleuger, @hlius Gam_(pLer el LsCaneller 72 -augl Afley Aummbglng.

2bsé SOEWGer b |
Options :

70819160641, 1-64 mm



70819160642, U-90 mm

70819160643, UV-82 mm

70819160644, 180 mm

Question Number : 12 Question Id : 70819118495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An a particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
this, their de Broglie wavelengths are A, and A, respectively. The ratio -~ is:
iy

Options :

70819160645, 2.8

i ]

70819160646.

=]
= &

70819160647.

70819160648.

Question Number : 12 Question Id : 70819118495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ o F&am wHmb @m yGrriirear dwar e Haauld @mbg 200 V

Bleen(psassme pHssLURSanar. ogandeany, eubblar -dynsel sime
A

Bemager (panGuw A, wHmID N, 24 2 Genar gafled N, T il dlgLb.

Options :



70819160645, 2.8

70819160646.

70819160647.

70819160648, -8

Question Number : 13 Question Id : 70819118496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent light sources having intensity in the ratio 2x produce an interference pattern.

I]'Il:l.\ Imjn

The ratio will be :

max | min

Options:

70819160649, =X 11

70819160650.

v 2x

70819160651, * 11

fgj
= | 7]

70819160652, **

Question Number : 13 Question Id : 70819118496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



qaflF Cedley eldlsn 2v Qanam(herer @ram(h efluau el aparisd, @nadl ()

aflenereneud Gombmedléslemmer. ————

eremn edldlgLonena
max T 1min

Options :

70819160649, 2X¥+1

70819160650, 2*11

Jx
70819160651, * 1

.ZJE
70819160652, * 1

Question Number : 14 Question Id : 70819118497 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity

u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :

Options :

u+o

70819160653.

00—

70819160654, 2

IIJE | I'll'2

70819160655, | 2

70819160656.



Question Number : 14 Question Id : 70819118497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

énmen (pHassde @QUEGD @m CsTL] cemger @ubSID, memss SLOLSMS
u erenn SensCassdld sLps Hewdlng. osan sl Cull v eaamn dms
Ceussdla sL&8lng). Csmjeuemgulen ewwlieafl, msmss sbUSMSS SL&EL
SlensGeuslomeng :
Options :

u+o

70819160653, 2

70819160654.

|
70819160655. \

(0% —u

70819160656.v 2

Question Number : 15 Question Id : 70819118498 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an « particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is _ _and their speed is
, in the ratio.

Options :

70819160657. 4:2:1and 2:1:1



70819160658, 2 1:1and 4:

2
=i

I3

70819160659, 1 2:4and1:1:

ST
70819160660, | *2:4and 2:1:1

Question Number : 15 Question Id : 70819118498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e(F UCTTLLmen, g gL en hmib a &&6r opfuer e Srmar &MhsL Ladsla
F10 jemey 2 hasELam QUEGHanear. isgsasafean g CeuauBn ellassaflen
eldlgb wHmn Heunder HawsGeasd elflgd __  oy@Eb.

(QarH&ésiul L aflesba)

Options :
70819160657.4""1 womw 2:1:1
70819160658, 2+ 1 lpmb 4:2:1
< 3. : T v e
70819160659, L ‘24 wOOD 1:1:2
1:2:4womb2:1:1
70819160660. ~

Question Number : 16 Question Id : 70819118499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :



70819160661, 01 M

70819160662, U-1° m

70819160663, U-2 m

70819160664, 1-U m

Question Number : 16 Question Id : 70819118499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ alLelge &0& smeflar oFfle, mousdad @mba 005 m wHnb 0.2 m

deremeela 2dear @@ uaellselle gpuBb arbsl Lok selar s

8:1 @ eafled, N&s0UEHmetlar 2y rsblar wHLIL :

Options :
70819160661, 01 M
70819160662, U-1° m

70819160663, V-2 m

70819160664, 1-U m

Question Number : 17 Question Id : 70819118500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=600)
MR
15V
10V =t LY20V
o— 1L
Options :
70819160665, 12 H and 250 uF

70819160666, 1-33 H and 150 uF

70819160667, U-8 H and 150 uF

70819160668, > 1 and 250 uF

Question Number : 17 Question Id : 70819118500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ LCR &ndlé umybd wimélens WlenGemmLgdlen Camemr o8 iGleuer 100 rad/s

D GD. sl @aeamssiu [Herer smnser ULSHD s iul [feteng). &GS

g(mafle Wleigream e eraior wimib Wleir Gaddlullen Wlen(Gad s, 4mer 2ydlwar (pepnGu :
R=60 ()

——— AR
15V

c==qoy X400 Lg20vV

S |

Options :

70819160665, 12> H LHmID 250 pF



70819160666, 10 H LODIL 150 uF

70819160667, 08 H Dmid 150 pF

o
70819160668, -° 1 LODID 250 uF

Question Number : 18 Question Id : 70819118501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o oo : 7  —_— ;
A diatomic gas, having Cp =;R and Cy =;R, is heated at constant pressure. The ratio

dU:dQ:dW:

Options:

|
]

70819160669. 2 :

70819160670.

70819160671,

e |
(o5

70819160672, 2 :

Question Number : 18 Question Id : 70819118501 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R opmid Cv=5R wfiyeru ¢ mray amy, orpr SiwsssHda

|

CI.’J:E
Gentutu®ssuu@dog dU: dQ: dW earn eilélsn
Options :

70819160669, 2:7 12



|
-2

-
70819160670.

70819160671, -

.,
()

70819160672, 27

Question Number : 19 Question Id : 70819118502 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have N I and I\I2 nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio % will be equal to:
2

Options :

|—-|,...1

70819160673.

70819160674.

70819160675.

70819160676. 8

Question Number : 19 Question Id : 70819118502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@m sdljeiéss seflwmsea X whnbd Y dwer Qsnisssdlad wpenCu Ny womb
N, Siagnéamasmard Canam(herarar. X -6 Sia) QUL &ML Y -6 (6D BpLl
srassle urduarain@. Y -ar epern e UL srassn@l Wear, @ m wmsasd

saflomseilar sianésmeseflan aamafléms swornEn eeaflo, N—] eremp eildlsin :
2

Options :

|—=|’~.>J'

70819160673.

._,._1|,_1.'

70819160674. -

.—1|::|c:-'

70819160675.

o | =

70819160676.

Question Number : 20 Question Id : 70819118503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphere of radius R gravitationally attracts a particle placed at 3R from its centre with

¥

a force F,. Now a spherical cavity of radius [;\] is made in the sphere (as shown in figure)

and the force becomes Fz- The value of F.! ' F?_ ig

Options:

41 : 50

70819160677.



70819160678, 0 - 41

70819160679, 26 : 2

70819160680, = °

Question Number : 20 Question Id : 70819118503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R @yrpenLi g SlLé Ganerh, g6 enwwisdlalmibs) 3R Csmenaellc) 2 amer e
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Options:

70819160677, 1120

70819160678, 20 - 41

70819160679, 26 : 25

70819160680, = 0



Physics Section B

Section Id : 708191773
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911053
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118504 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas

X
R=vas constant) is —. Value of x is 3
R=g [Bip i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819118504 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



40 u HlanpyeLw @m @ram ey sL55T serambwami g datdsassld
aeusslILL(Hatang). oibss Gamasaer 30 m/s SesGaussger @ussiu@&ng).
ibawen S brerm Emssiu@oremd, eeueumyedda ghu@n Geuiu wrmhmib

% R=eumy wrhled) @rus x -6 oy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819118505 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged loa potential of 2V each. The drnps are joi_nr_-d to
form a single drop. The potential of this drop is '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819118505 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@Gr @enwlivenLw 512 ungrss seflser 2 V Weamanwsssdne Were L Uiu(dlemer.
o o] 279 g D22 22DE LDikorgl) \piledtD
2lemal S@ansgd e sefleaw o mandEom delwiu@daner oiEs5s &efllen
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Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118506 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after 4 s is o

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118506 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

V=3t Geaumeb_ (t ereimuigy eflenmguied o cnarg)) eremm Wleman(pdan Asmam gm
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s o L e ST S R e e _ . L] e
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118507 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest position is ___ __m/s. (Take g=10 m/s?

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118507 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118508 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as

where, a and f are positive constants. The equilibrium distance between two atoms will be
d

0 F
— |, where a=_
J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118508 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819118509 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4

- - A
The electric field in a region is given by E = [;L‘ﬂ, i+t=E,j ‘ % The ratio of flux of reported
\“ i

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a:b, wherea=___

[Here E ' I and k are unit vectors along x, y and z-axes respectively]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118509 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
4
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 27 Question Id : 70819118510 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmiltting station releases waves of wavelength 960 m. A capacitor of 2.56 uF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
x10-8 H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118510 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Q@ Bened LIFLLLD {ljﬁl@t:euu_l_h 960 m e bar smasmer aalllRdng. oiséies

sl 2.56 pF WarCssdl LwearuBssiufdns. essdliey CaromeliusneEs
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(GgeneuLIL(E
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819118511 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convex lensis . cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118511 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o Gelteada @mba, Cummer 20 m s@ag 10 cm gdde @adslu(ibn

Gurg, oibsé Gelldasadleamea so oerey Wbumsd 2 mandslubhdng. oibs

Gelldaendlen @elus smo am 9, HL0.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118512 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as KV,
The work done when the temperature changes from 100°C to 300°C willbe ______nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819118512 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118513 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K| (closed), the jockey is adjusted to touch the wire at
point ], so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ L E; , a
gives then null deflection at ]2. The value of L—l is E , where a=
2

|| £ G
=/ '
I'E, ~ 7K,
| E
oK A |
«2em— ], I
A
£— I i
I
I
Rh J,¢—60 cm—}l :
, J—— »
B"{ Im 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118513 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5to 5.001
Chemistry Section A
Section Id : 708191774

Section Number : 3



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911054
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118514 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819160691, (&)

70819160692, (P)

70819160693, (©)



70819160694, (D)

Question Number : 31 Question Id : 70819118514 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819160691, (&)

70819160692. (P
70819160693.

70819160694.

Question Number : 32 Question Id : 70819118515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819160695,

70819160696, | €2

70819160697, 22

| |L'2
70819160698.

Question Number : 32 Question Id : 70819118515 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

apadsnn 7L md Qararensfer Ly, Spssam_meusaila aThs epadann @)mbs

@Qwerg ?

Options :



5
70819160695.

70819160696, |12

70819160697, D2

He,
70819160698.

Question Number : 33 Question Id : 70819118516 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 i.s x. The value of x is :
[Assume : No cyano complex is formed ; K.*ip(ABCN] =22x10"10 and K, (HCN)=6.2x10 0]

Options:

70819160699, 0-625x10°°

70819160700, 1-6%107°

16
70819160701, 2:2x 107

5
70819160702, 1-2 % 10

Question Number : 33 Question Id : 70819118516 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

pH=3 GaramL q(m smhsd sarsald AgCN -aflar sengdlpen x erefléd x -er wHly

. (eflen : syméled 2arer (p eamsefldy wLL{HD)
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Kop(AgCN) =223 101 opmid K,(HON)=62x 10~



Options :

70819160699, 0-625x10°

: 6
70819160700, 1-6 <10

r3
-2

16
70819160701, 22X 107 *

5
70819160702, 1-2 % 10

Question Number : 34 Question Id : 70819118517 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption ‘i is

I

directly proportional to I**. The value of x is :
Options :

70819160703. 1

70819160704, Z¢1°

70819160705. =

70819160706.

Question Number : 34 Question Id : 70819118517 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819160703. 1

70819160704.

70819160705. =

70819160706.

Question Number : 35 Question Id : 70819118518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819160707, AGvsT

70819160708, AHvs T

70819160709, G vs P

70819160710, (AG ~TAS) vsT

Question Number : 35 Question Id : 70819118518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
arallmsd auenguLLD SpsanL asen liglien il auanguLions uenmuliubdnsg ?
Options :

70819160707, AGvs T

70819160708, AHvs T

70819160709, AG vs P

70819160710, (AG ~TAS) vsT

Question Number : 36 Question Id : 70819118519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following equation depicts the oxidizing nature of H,O, ?
Options :
20819160711 KIO, + H,0, — KIO, +H,0 + O,

2 ¥ .
70819160712, | BACRE RS Sx AT £ 2k Y

t
70819160713, 2 TH0p +2HT — 1, + 2H,0

& 5
20819160714, St Ha0Oy — 2HU O,

Question Number : 36 Question Id : 70819118519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SpssanL oThs eflenarilar HO, pselleGanpil vemry Glsmam(perarg ?



Options :
70819160711, KIOs +Hy0, — KIO; +H,0+ 0,

2 Z 2
70819160712, - B T AOEL <3 AT ILOIF LS

P
70819160713, 2~ TH0p+2H* — 1, +2H,0

= 2
70819160714, “l2t H20, = ZHCA+O,

Question Number : 37 Question Id : 70819118520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B5H is :
Options :
70819160715, All B—H—B angles are of 120",

70819160716. The two B—H—B bonds are not of same length.

70819160717, lerminal B—H bonds have less p-character when compared to bridging bonds.

70819160718. Its fragmc-nt, BH3 , behaves as a Lewis base.

Question Number : 37 Question Id : 70819118520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B,H, unilw sflwner sabm erg ?

Options :

20819160715, 2ewenss B—H—B Gamenms e 120°.
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oy
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70819160718.

Question Number : 38 Question Id : 70819118521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I CeO, can be used for oxidation of aldehydes and ketones.
Statement II  : Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options:

70819160719. Both Statement I and Statement 11 are true

70819160720. Both Statement I and Statement 11 are false

70819160721. Statement 1 is true but Statement 11 is false

70819160722. Statement 1 is false but Statement 1l is true

Question Number : 38 Question Id : 70819118521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 39 Question Id : 70819118522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options :

70819160723. V*>*' and Cr'

70819160724, Cr* and Mn??
70819160725, Ni*" and Cu*

)
70819160726, Fe~ " and Co’

Question Number : 39 Question Id : 70819118522 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SpssanL ahs @evanmfar Geueflliym s gar eradLlymer Sanwlil @Grorsfluns
SlenLhgeTarg ?

Options:

70819160723, V- wibmib Cr
70819160724, <F © wHmiD Mn*?

70819160725, NI whmid Cu

1.2 + . wi ey
70819160726, ¢ Lomw Co

Question Number : 40 Question Id : 70819118523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [Mn(CN),]*~ and [Fe(CN)]*~, respectively are :
Options :

20819160727, @-sp° and paramagnetic

70819160728 Spadz and diamagnetic

70819160729 d*sp® and diamagnetic

w3 J2 . Hocied ] %
70819160730, 5P @~ and paramagnetic

Question Number : 40 Question Id : 70819118523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

[Mn(CN)J*~ womib [Fe(CN)*~ apfluapflar Qadsaliy whnb &rhssgamai
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Options :
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Question Number : 41 Question Id : 70819118524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :

Options:
70819160731. Both Statement I and Statement 11 are true

70819160732, Both Statement | and Statement 1l are false

70819160733, Statement 1 is true but Statement 11 is false

70819160734. Statement 1 is false but Statement 1l is true



Question Number : 41 Question Id : 70819118524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819160731 gapm [ womb Fapny I @ran(n sflureareney.

' DML r (@) ramr (R L 6D G
20819160732. Fgamm| 1 womiw Fammy I & rewr(hw Seumreren el

20819160733, samml 1 sflwnerg opemned Famm I $eunmens.

70819160734, EﬁLLerj I SEUDTEE eumTeD &1@@] I #flwmeng.

Question Number : 42 Question Id : 70819118525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H,0,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options :

70819160735, 20-33

70819160736, 93.33



70819160737, ©3.53

70819160738, 21.63

Question Number : 42 Question Id : 70819118525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1.80 g eranL_Glanmair oy dellmenar Carer.. Gaiwbn (CH

H,0,) -8 Ppuy@vuns

aflssaisE 2L UubHsgn Gurg 2.64g CO, -aveub 1.08 g H,O -aeud smélmsg.
Guhaar_ &flns Gamnndsld o drer ysallpaism s56i5L0.
Options :

70819160735, 20-33

70819160736, 93.33

70819160737, ©3.53

70819160738, 21.63

Question Number : 43 Question Id : 70819118526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A in the given chemical reaction.

/CH3
CH Mo,O o
2 CH, 203 N
L - ~ 7 773K, 10-20 atm major product
13
= C Hg/ \‘CI—I%

Options :



70819160739. :
CHs

70819160740. :

70819160741, i
: _CH,

70819160742.

Question Number : 43 Question Id : 70819118526 Question Type : MCQ Option Shuffling

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Epssar ellenamnile o meum@h eflenerummeners ser(h 9y &5ea|b.

CH Mo,O
2 CH, 2 = A
~ 773 K, 10-20 atm
CH, /C] [ WOl @ luwimen
e I, \\CH:; aflener Glummer
Options :

70819160739.

70819160740.

70819160741.

:Yes



70819160742. :

CH;

Question Number : 44 Question Id : 70819118527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identif}-' A and B in the chemical reaction.

HCl
—— [A] Nal
(major) dry acetone (major)
NO,
Options :
OCH,4 I
Cl ]
r'*'L = H =
I NO
70819160743, NO, :
OCH, OCH;
Ll I
A= B =
NO, NO,
70819160744.

70819160745.



OCH; 1

Cl Cl
NO, NO,

OCH,4 OCHj;
Cl

70819160746. e N

Question Number : 44 Question Id : 70819118527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Snssa allenemlle @blu9 (Hater A wHmb B - sawr(pGig&seyb.

G o A Nal o p]
(Bl@Slwuman) “TGE” , (Lﬂ@jﬁmmm]
& _GLmer
NO,
Options :
OCH, I
Cl Cl
.n"*'L: H:
I NO
70819160743. NG, 2
OCHj; OCH;,
Cl I
A= B =
NO, NO,

70819160744.



A = B —
Cl Cl
NO, NO,
70819160745. B
OCHj, OCHj;
Cl
A= B =
Cl
70819160746. N S

Question Number : 45 Question Id : 70819118528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major pmduct of the fnllnwing chemical reaction is :

1) HO+, A
_ 2) SOCl,
CH;CH,CN > 2

Options :

70819160747. S S S

70819160748, (CHCH,C0),0

70819160749, T aCHCH,

70819160750, “HaCHCHO

Question Number : 45 Question Id : 70819118528 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Epssan ellenanda o meaumgh W@gdHwunear ellenerClummer erg) ?

1) HO*, A
2) SOCl,
CH;CH,CN _ > ?
* 3) Pd/BaSO,, H,

Options :
70819160747, STt CHOH

70819160748, (CHaCHC0),0

70819160749, CHaCHCH,

70819160750, —HaCHCHO

Question Number : 46 Question Id : 70819118529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following reactions will not form acetaldehyde ?
Options:

Pd(I1)/ Cu(II)
H,0

CH2: CHE + 02
70819160751.

: CTDB—IIESD;}
CH,CH,OH -

70819160752.

i) DIBAL-H
i) H,0

CH,CN
70819160753.



“u
(_1H3{1H2ﬂ]H —
) 573 K
70819160754.

Question Number : 46 Question Id : 70819118529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁgpéhaaei:'m_ cllenemgaticy e

b5 @ dlenania ol Lragman() eflenarlummarnss

(o

SlenLdsng ?
Options :

Pd(I1)/ Cu(II)

CH,— CH,+ 0O
2 2 2 HZD

70819160751.

: CTDB—IIESD;}
CH,CH,OH -

70819160752.

i) en_umen-H
ii) H,O

CH5CN
70819160753.
Cu
(_1H3'CH2{JH W
70819160754. T

Question Number : 47 Question Id : 70819118530 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NH, COOH OH
NO, NO,
A= B = (=

NH, NH,
OH NO,



Options :

70819160755, ‘* and B only

70819160756, = O™

70819160757, © and Conly

70819160758, B only

Question Number : 47 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819118530 Question Type : MCQ Option Shuffling : Yes

é:gjtlhdz(::fﬂl_ Carnrsater egl/eraey Camewid enusrjuGear (HLear Gajé@En Gurg

#

srjuenen pdensenl GleuaflGLmmLb

NH, COOH

NH, NH,
OH

Options:

70819160755, A LOmib B oL (ib

70819160756, © b
b C o1 [ib

70819160757, © 200

70819160758, B L=0IL

Question Number : 48 Question Id

'.:r

OH
NO, NO,

: 70819118531 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
o i) Sn/HCI
i) HNO,
iii) Aniline
NO,
. i) NaBH,
B ii) NaOH
iii) Aniline
NH,
c i) HNO,
) i) Aniline, HCI
Options :

70819160759, “* only

70819160760, = ™Y

B only
70819160761. i

70819160762, »and B

Question Number : 48 Question Id : 70819118531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sp&saTL eThg eflenar/sen p -blCarrCar Quenfer symg ?

NO,
A i) Sn/HCI
ii) HNO,
ii1) <=2y enfl el em
NGO,
. i) NaBH,
B ii) NaOH
iii) <2y enfledl e
NH,
i) HNO
C- ) 2 - m
i) <y efledlenr, HCI
Options :
70819160759, * L2=0Iw

70819160760, C LD

70819160761, B LD

70819160762, * LODIL B

Question Number : 49 Question Id : 70819118532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct 7

Options :
70819160763, Puna-N is a natural polymer.

70819160764 Buna-5 is a synthetic and linear thermosetting polymer.

20819160765. Neoprem is an addition copnl}fmer used in pla_qtic bucket manufacturmg.



20819160766. 5}-’11&1:3515 of Buna-S needs nascent OXy gen.

Question Number : 49 Question Id : 70819118532 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Epsseamauphled erbs gmpm Fflwneng ?
Options :

uperm -N e @)

70819160763. = F Dend Leullg.

T,

e -S g Qewupans Lauly Coaib @& farL Cpismdeals Cgsmiy Cleauliu

[} : . X
70819160764, 57 Sk

|H'¢.u_n|_ flemr e sl () 2 Lenm Leulg. @& Dearrevigsd eunafl swnflés
70819160765, “em (D).
20819160766. Germ S swnflés “Crean " o &ellmen GCoaneulsuBdng.

Question Number : 50 Question Id : 70819118533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options :

70819160767. ©-1 of galactose and C—4 of glucose

70819160768, &1 of galactose and C-6 of glucose

70819160769, C-1 of glucose and C—4 of galactose



70819160770, C-1 ©f glucose and C-6 of galactose

Question Number : 50 Question Id : 70819118533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o ]

ansl GLrdla o arer Csasl GLmev womw @eErsGasrallnE @aLGu &nésarL
G L £

)
G

ahs HeveraGametlns Gaerriiy o creng ?
Options :

Caad CGLreller C-1 wHmb @EepsCandlen C-4
70819160767. . SN
70819160768, “o@sLGLmatlan C-1 HNL @ EhsGanslar C-6

20819160769 GHensGanslen C-1 wpmib Geas GLméler C-4

@&Een&Gandler C-1 wHmid Csed GLmerdlen C-6
AN C

70819160770.

Chemistry Section B
SectionId: 708191775
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 7081911055



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819118534 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of Na,(CO, in the mixture is . (Rounded-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819118534 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Aflsaray ellaeande mHuLts wrsssamad dsrame 04 g NaOH wpmb Na,CO,
sa@mal (sadlad Warrigeller wHmIb 10 HCl 2 Lam &b UMfESLUULLES. (e

Hlavaenws eriL 17.5 mL HCl Gaaneuiul L gy. Geneny, Glogsled prehs Gafasiiu(p
265 HA 2 Len grbunfs@n Cung 055 ey Hawemwy e 15 mL 2G5 HQ

CsaauliulL g erafle) saameada o dar Na,CO, -Wear sgels eranL

(eflenr : si(mdled 2 amar (p(p eremanfled)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 52 Question Id : 70819118535 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burst is (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118535 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e snflear Lwfed 35 psi wombd 27°C - enplymen aumy HpuululLg. Siga
S(ps5D 40 psi -m sram(hn Curgy Lwi degdgedHn. Luf darsEn Curg
o drar Qeubiuflaney _ °C. (eflenr : sy(mdled 2arar (pp eramenfed)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819118536 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol "%, The magnitude of AH,qq for the reaction

o 3 _ _

35 kJ. (Rounded off to the nearest integer)
[Assume ideal gases and R=8.314 ] mol "1 K 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819118536 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

swanen® NH,CNy, psellgayiar yflyd deeardoar urd sGenflbl fla
Hlapsdl emuiulL AU nfluy -742.24 k] mol~! eraflé) Spsseam el anemulen
NHE{:N{S} | %O.T‘_{g} _}N?_{g] | 02{5} I H;_{'J'{]}

AH,q &l iy kJ.

[eflenL : ymSle 2 aren :jp.'\ﬂ;-@ltﬁ:‘:lesz?abj

[smsHa Qands - paoaluay emudse wHmb R=8314 Jmol 1 K1)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118537 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1 molal aqueous solution of an electrolyte A2B3 is 60% ionised. The boiling point of the solution
at 1 atm is K. (Rounded-off to the nearest integer)

[Given K, for (H,0)=0.52 K kg mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819118537 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 Gorerd Cebleydrear AB,y erenn Wenugeflen hissersd 60% <jweilunsns.

1 aueflwar e ‘__?,q{\:g-{.ﬂv;g{&]@t (@) & & an g &aden 'Z-Janh.a_'ﬁliﬁ;lac:w - K.

[Gan(Rssriu_Hererg @ Ky (H0)=052 Kkg mol 1] (eflanL : ymédled 2 arar (pp

o eremfl b )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118538 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
In basic 11mdiuml{_'r{)42 oxidises .ﬁzg}az to form lf_;{}.lz and itself changes into .{_'r({}l D)y -

The volume of 0.154 M .Crf.}f required to react with 40 mL of 0.25 M .52032 is

_mL. (Rounded-off to the nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118538 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
&My 26rL &54ld Crt')f ,'5‘2(‘_}32 -8 '5{_}42 -6 ballnCarind Candng.

< UGuUrg 2ig CrOH),” <& brHpwaLdng. 40 mL 0.25 M 5,0,> 2 L

allenaruflng Caemeuwmar 0.154 M '{_'ru 2= _Gi SEI|ETa 1A adl (aSlemL_
LMg \o& 1 1

- D(mdld 2 araT (1 eTaimantled)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819118539 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1
For the reaction, aA+bB — cC+dD, the plot of log k vs T is given below :

T slope =—10000 K
logk
1/ —
T
The temperature at which the rate constant of the reaction is 10 4g-1ig K.

(Rounded-off to the nearest integer)
[Given : The rate constant of the reaction is 107> s ! at 500 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118539 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1A +bB — cC+dD erairp ellenanés k vs T UL gHJdadzélﬁﬁll_chll!_f;lJ EEE

T Frile =—10000K
log k

1, —

%\
Qenarliar aflenarCa Nl 10~ s=1 - P O PSR D enaruia
alenarllen elenenrGeus wrdledl 107* s™! -8 @méGL Cungy eleneren
Qeutiublenay K (flenL : oimdléd o amer (pp eremanflad)

-
|

[Asr(hésiu(Berarg : 500 K Qeiublaawle aamandear comateas wriblel
10-75~1]

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118540 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na,, is 495.8 k] mol~!, while
the electron gain enthalpy of Br is —325.0 k] mol~!."Given the lattice enthalpy
of NaBr is —728.4 k] mol 1. The energy for the formation of NaBr ionic solid is
=) - =i lk] mol 1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819118540 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: _ar : a " b . ) . - Al 1 . T
Na(g} @ @mbs Nat o meungallen <jweflungn erengmard 4958 kJ mol~! wmmib
Br -ann cravgLyner erpy ererrgmenld —325.0 k] mol I NaBr -én Ly &8 (h eTengmal

7284 k] mol~! eraflé®y NaBr sweflé Cafod o mansd nnd (-)
x 10~ 1 k] mol ~ L.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 58 Question Id : 70819118541 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/are inert to hydrolysisis .
(A) BF, (B) siCl, (©) Pd; (D) SF,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118541 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

™o

Spssam_eupdle brre uglLle rhHurrs Gapma®/Capma(saflar aaraflsmns
(A) BF, ®) sicl, (C) PC (D) SF,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819118542 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Consider the fol[owmg chemical reaction.

CH = cH 1) Red hot Fe tube, 873 K W
S 2) CO, HC, AlCl;

The number of sp® hybridized carbon atom(s) present in the product is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118542 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SpssanL Caufldaarau smsdla Candrs.

L

1) Qagn@ran Gmby @wpmi, 873 K P .
CH=CH 2)CO, HCl, AT, » Glilener lLm(mer

ConsarL elamenda o meur@b elmardunmaiia, sp? Gardsalifla o d@rer smiuen
‘%'-l-@&d:-b*f]hbl cramrentlseng
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118543 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Using the prf}vided information in the [ oﬂowing paper d'nmmatogram :

A =]
™SGolvent front
Be A
2cm
Beom
n ™ L
2cm
b S T TTra——— W
/ i
7 = Base line
Spot

Fig : Paper chromatography for compounds A and B.
the calculated Rf valueof A %1071,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118543 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Spssan. euequLgdlan oater saeudseflan Siqlumla A pdlweinilen Ry

wélyser ___ x1071.
1 = o
TS s lILNTET BaThe deramaa
Be A
2cm
Sem
ﬂi
2em
N S
/
g 3 o)lg 5GET
Cergana] g b
Al ITCRET @ LD

uLlb : Gajomsar A wpmb B -ar s1éls aamariugal Mflos.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId: 708191776
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 7081911056

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ :N — Nsuch that f(n+1)=f(n) + f(1) V neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options:

70819160781, 1f/is onto, then f(n)=n ¥ neN

70819160782, [1s one-one

70819160783, If ¢ is onto, then fog is one-one

70819160784. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118544 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f g:N = Neranuern fin+1)=f(n) +f(1) ¥ neN eremejd womD g ereills) SN e

sTiUNSaD o ararar. Sp&sam_eunbld 618 seum ?

Options:

20819160781, fem CunCsnisser #miy ereafled f(n)=n ¥ neN.

fep(m epemmisbl&menmmen &riL.

70819160782, 7 ¥ &

70819160783. 'Y n'.:}_';}{hlb '\ELDHJ"\E&?”U{Q}(&_}EU Gy G.ﬂnf-:uﬂi &l ,Irﬁg il LI G:;}{:.E-I\I_[;dez'xu‘ltl':llhﬁlﬂ)llnbﬂl FITITLL.

70819160784.



b:;}.ilb n'a}‘:(:t-l\l_l)“lj.‘:h'\u‘|nﬂ*.llbill'I_DIIGJGI

fog erenLgl @ @enmidblamannrer iy ereile, g -

L.

Question Number : 62 Question Id : 70819118545 Question Type : MCQ Option Shuffling : Yes

1) be normal

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lines(2 —i)z= 2 + i) and (2 + i)z + (i — 2)Z - 4i = 0, (here 2
toacirdle C.Iftheline iz+ T+ 14+i=0is tangent to this circle C, then its radius is :

Options :
70819160785. -

3
o
3]

70819160786.
70819160787.

70819160788.
Question Number : 62 Question Id : 70819118545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
1) eremueT eul_Lib C -em

Correct Marks : 4 Wrong Marks : 1
-z -4i=0, (#=-1
QAsrHCan([H erefle,

gel

2-i)z= (24 i)z womw 2+ i)z + (i - 2)
OemGanfadr. iz+ 2+ 1+ i=0 eramm Gan() alLid C -&@ |
L

C-an <

Options :
70819160785, V2



3
> | -
3]

70819160786.

;qd”*

70819160787. 2V

I:}_]| ’1"‘.

70819160788. ™

Question Number : 63 Question Id : 70819118546 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x + 8k?~ 7 > 0 is valid for every x in R,
1S

Options :

=]

70819160789.

70819160790.

70819160791, 4

70819160792. U

Question Number : 63 Question Id : 70819118546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R -& 2 drar eredam x -H@, x2-2(3k-1)x +8k2~7> 0 ey swenuniaL Flennay

Gleyb K’ erarm (pp eramanflen wELIL
Options :

70819160789, 2



70819160790, °

70819160791, 4

70819160792, U

Question Number : 64 Question Id : 70819118547 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e m i

" m ? 2n A ks y

H0<0,d<—,x = l cos=0 y= l sin“"&¢ and z= l cos>"p . 51112";1: then :
ik n=0 n=0

Options :

70819160793, W z=(x 1 y)z

70819160794, ¥ Tz=(xty)z

70819160795, *Y tyztzx=2

70819160796, V= =4

Question Number : 64 Question Id : 70819118547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e o 2 o o
. ] b n T . n o s hinit « Vs
0<8,d<7,x= 2, cos b, y= l SIN“" ¢ WwHmd z = X cos>™g . sin2, arafle,

= n=(0 n=l] n=0

Options :

70819160793, XV ~z=(x 1 y)z



70819160794, ¥ 1 z=(xty)z

70819160795, *Y tyztzx=2

70819160796, V7 =4

Question Number : 65 Question Id : 70819118548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If Rolle’s theorem holds for the function flx)=x*~ax?+bx 4, x<[1, 2] with l— | =

then ordered pair (a, b) is equal to:
Options :
70819160797. )

70819160798. 5, —8)

70819160799. 55

(=5 —8§
70819160800.

Question Number : 65 Question Id : 70819118548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S )LD

flx)=22-ax®+bx -4, xe[1, 2] eremp FNTUEES f' |—‘— 0 erampeummn Grmellar Ca
o gl ereatled, euflensliL(DdsLILLL @) enanr (a, b) -er WAL

Options :

70819160797. )



70819160798, > &)

70819160799. L

(=5 —8
70819160800.

Question Number : 66 Question Id : 70819118549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 1 1 Ll
1 4 g . F —
lim | 14 = n is equal to :
n— n-
. P
Options :

70819160801, 0

B3| =

70819160802.

70819160803. ©

70819160804, 1

Question Number : 66 Question Id : 70819118549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



5 ~e L&l

Options :

70819160801, ©

k3| =

70819160802.

I'".'|r—*.

70819160803.

70819160804, !

Question Number : 67 Question Id : 70819118550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the mtr_-gral

Jsinl]_sin 20 {sinﬁl] + sinto A sinzl]] V2sin®0 + 3sin%0 + 6

do is :
1 — cos2D

(where c is a constant of integration)

Options :

3

_L [9 2sin®0 — 3sino 6sinzl]F F ¢
70819160805, 1°

3

i [9 Ecnaﬁll 3(:05'4!] 6{:052“-‘5 F ¢
70819160806. 18 :

3

_L ['l'l 18sin”0 + 9sin®0 Z-ainﬁl]F tc
70819160807. 18



3

1 {11 18cos20 + 9cos?o 2+:n:3u*f"l]-‘E FoC

70819160808, 18

Question Number : 67 Question Id : 70819118550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

jsini].ﬁin 20 {sf_nﬁl] b sin®0 4 sf_nzl]j \/25in4l] b 3sin20 + 6 do

1 — cos20
srentm Glgmens il eblem iy

(@EE o eremug GCsrenasudellenm wrmledl wp@b.)

Options :

. , 3

— |9 2sin®0 — 3sino 6sinzl]}2 F ¢
70819160805, 1

; 3

— [9 2c0s%0 — 3costo 6{:052”-‘5 FC
70819160806, 18 :

: =
_i ['l'l 18sin°0 + 9sin*0 lﬁinﬁll}?— F ¢
70819160807,

3

1 {11 18cosZ0 + 9cos?o 2{::.";:?»‘{’[]-‘E F o

70819160808. 18

Question Number : 68 Question Id : 70819118551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
.3
The value of szell Jd;r , where [t] denotes the greatest integer = t, is :

-1

Options :



'ell

70819160809, 2

1
70819160810, -¢

2T |

70819160811, -¢

e+ 1
70819160812. e

Question Number : 68 Question Id : 70819118551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. : : a3 . 5 3
[t] eramug t - el WensiuLng WsLduflu wpp erem erele, Jx%h

hx—m
-1
Wl ULy
Options:
e+ 1

70819160809. 2

-
70819160810, -¢

R |

70819160811, ¢

e + 1
70819160812. 3e

Question Number : 69 Question Id : 70819118552 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

2. s
¥ Aty B,Tlmn this curve also passes through the point :

x—2
Options :

70819160813, (% °)

70819160814. 2:9)

70819160815, (> %)

70819160816, (& 4)

Question Number : 69 Question Id : 70819118552 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ aumaraueny dleflé deodng. Coaib sgdar bgdar gGseab e Ldraf

eretled, NHS

.
(¥, y) -9 g ampuiiul L QsrRCsryer smia X i fo
r B

euaneraueny SpssertL ey Uetafl eulfld Glaadaun ?
Options :

70819160813, (% °)

70819160814. (> 5)

70819160815, (> %)

70819160816, (4 4)



Question Number : 70 Question Id : 70819118553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :
Options :

. A2 71:.
70819160817, X 4"ty +2)7=16

r —2)2 )2 =
70819160818, (¥ 2" Ty 4)7=4

AT
70819160819, (¥ 4~ 1 (¥

70819160820, (¥~ 27+ (y—2)*=12

Question Number : 70 Question Id : 70819118553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x-y+1=0 eremp Camliie (3,5) eremp yeraflllen Abud e cuenaTaLEn]
Options :

70819160817, X
o2 s

70819160818, (X 2Ty~ 4)
A

70819160819, (X ~4)° 1 (¥

70819160820, (¥ 2=+ (y—2

Question Number : 71 Question Id : 70819118554 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parabola yzzﬁx which is perpendicular to the line 2x +y=1.
Which of the following points does NOT lie on it ?

Options:

".1
70819160821. ©. 3)

70819160822, (& 0)

70819160823, (> 4)

(4,3)
70819160824.

Question Number : 71 Question Id : 70819118554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

#
(%

) . LI & P . s I - '] - - 0 ] 0 ]
y-=06x eTallm I_I]G:‘.J@EIG:T'.._&HJI['I.’\':I-- eUeRTILILIL L '\:.a] The&mH 2x+y=1 ererrm L&MTLlon&F
= J et ) \_\.' \_\-' o v—’\._}

7

Qemigssns odrarg crafled, Spssanm ahg Uarall by darHGsmgen b

Senowng ?

Options :

q
70819160821, )
70819160822, (& 0)
70819160823, (> 4)

(4, 5)
70819160824.

Question Number : 72 Question Id : 70819118555 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"9 9 3 2

x 1 X 1 . :
If the curves, — 4 “"1— =1 and — ’I’E = 1 intersect each other at an angle of 90°, then
a 1) C

which of the following relations is TRUE ?
Options:

70819160825, @ b=ctd

70819160826, @ ~b=c—d

70819160827. o

70819160828, @ ¢=btd

Question Number : 72 Question Id : 70819118555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) 2 2
U g a  N  eam s e  oe
=1 oM Mo P GIGOTD  GUenET el [HET ea6llelD) 62&llll il [0
1)

d

2

x
— A
a
Geulips Qamamrned, Sp&sam_eupdle eg 2 ewremd ?
Options :

70819160825, @ tb=ctd

70819160826, @ b=c—d

c+d
+ b

ab =
70819160827. -

70819160828, @ ¢=b+d



Question Number : 73 Question Id : 70819118556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let o be the anglo between the lines whose direction cosines satisf}-' the equations
l+m-n=0and I>+m2-n2=0. Then the value of sinta + cos?a is :

Options :

®|w

70819160829.

ol w

70819160830.

b=

70819160831.

| o

70819160832.

Question Number : 73 Question Id : 70819118556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. o - e - v o g . - X . . 4] 4] ] L .
@ran() GCarhaetlar SHenss dsrensarsar I+m-n=0 wHmLb =+m*—n==0 eramm
swerun(hamer Hleapey Qelsy AoauseEnsE @oLluulL Garard o aafld

sinfa +costa -am WdlUiL

Options:

®|w

70819160829.

ool w

70819160830.

70819160831.



M|

k.
70819160832, 4

Question Number : 74 Question Id : 70819118557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line

¥—4 gel =k,

2 B el
Options :
X _y 1_2 2
70819160833, 2 4 3
I e T e
70819160834, 3 4 3
E L. FE
70819160835, 2 4 3
- L o
70819160836, 2 4 3

Question Number : 74 Question Id : 70819118557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

r-1_y+1 z-1
R T

(0,1, 2) enflwmseyin oranmm G&mligne Clem@ssnseyn o emen

b

GHTligen FLoerLm(h

Options:



x_Yy 1:z 2
70819160833. 2 4 3
x _ ¥ | 2
70819160834, 3 4 3
x_ ¥ | T 2
70819160835, 3 4 3
-9 | T 2
70819160836, 3 4 3

Question Number : 75 Question Id : 70819118558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 1
When a missile is fired from a ship, the probability that itis intercepted is 7 and the probability

3 .
that the missile hits the target, given that it is not intercepted, is I If three missiles are fired
independently from the ship, then the probability that all three hit the target, is :

Options :

i
70819160837, 27

0o |

70819160838.

| w

70819160839.

.4-_,.|:,,.;'

70819160840.



Question Number : 75 Question Id : 70819118558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a5 sULllmEs CeussLuBb @m Fesmen sHésLURsDaM Hapssey

1 .
S YT aaulla s @asden o o
2 <BEL. Teyseman shésuuLng Hlaewdd, g Qaosdaa s1é@ashsna

1 . -_ p T 1.-‘ ’ . P AT r i P - * i Mk [ ik
[UEIEEY 7 BED. aTy STIUHD GFaysenatsdn sULElambg) ereuliu(Bid Aumps,
Qe aparmid Glesdlemar gréGausnanar Hapssey
Options :

1
70819160837, 27

oo |

70819160838.

00| W

70819160839.

i | 02

70819160840.

Question Number : 76 Question Id : 70819118559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b and ¢ of the quadratic equation, ax® + bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819160841, 26

70819160842, 54



-
70819160843, 72

5
70819160844, 216

Question Number : 76 Question Id : 70819118559 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4] . = - . £ - . 5 . i
ax“+bx+c=0 erarp @@HUuSSTEr FLETUT el L&UWESE a, b, ¢ araTuar 6 (n

Ls@LaWL apann apepn 2 mL{pL Gung SlaLé@En eanserm@En. ax2+bx+c=0

G FETUTL g6 APQBIGET FWLME @HUUSDaTar Flapssey

Options:

70819160841, 26

70819160842, 54

70819160843. /2

70819160844, 216

Question Number : 77 Question Id : 70819118560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 0 € [0, 27] for which sin 20 + tan 26 > 0 lie in :

Options :



0, :| L lTr,

70819160845, ~ 2/ L 2
i = T R 8
|l[]’ i |‘5* o i? s
70819160846, - */ . " 55 | 6 )
(1) T 3 ! ri
e e iy R
70819160847. - - 2 J > )
w 3w ) 37 7
|U_| |5 T) |’ff—IUI?TW

70819160848.

Question Number : 77 Question Id : 70819118560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin 20 +tan 20 > 0 eranpeuny &HenLs@n 0 € [0, 2] erenugy Sewwb @ea Heuafl

Options :
['] JTIrx"| U [ 37\
B Wi
70819160845, ~ 2/ L 2
]fu o |5 2 fﬁ 1w
70819160846, \ 4/ 25 4 12"
(. ] (o 3ar) S -
i w3 &
70819160847, E«J o 2 4 ,J o 6 ,J
0T (@E) om0 (E )
70819160848, 2 A 4 ) 2’ 4 )

Question Number : 78 Question Id : 70819118561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819160849, 24

70819160850, U

70819160851.

70819160852. e

Question Number : 78 Question Id : 70819118561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
xyz=24 aremp goeanuniger (pupdsaiian Siay (v, y, z) -saflen Awnss eananfléens

Options :

70819160849, 24

70819160850, 30

70819160851, ~°

70819160852, *°

Question Number : 79 Question Id : 70819118562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30° (Ignore man’s height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower is :

Options :

70819160853, 10

70819160854, 103 + 1)
70819160855, 103

70819160856, 103 — 1)

Question Number : 79 Question Id : 70819118562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A eremp yereflQelmpa frmen Coussdledr cumbgy QamamgmE@b @@ LLMS, @
Camyrsden 2 &f9mbs o wallgea LMsas Caramnmédnren. ks A eern
yeraflbed weflgaflen sans@nsE uLblar @nassGanambd 30° yEn (el geflen
o ursang samsdld Qandrar Ceueimmd). Camygsdler oig gementfler Hlavadd
o grer Gumgl, 20 Gpreser Camursder wenw GCorédl Lwenllds uLE B eramp
yarafleow SienLdpg. 0@urws @néssCaramd 45° &6 2 6marg. UL®G
B -l mbgy GCamypsdlan sgenw e w ahdgsdamameyb Crrb (edermgsefla)

Options :

70819160853, 10

70819160854, 1033 + 1)
70819160855, 10v/3

70819160856, 103 ~ 1)



Question Number : 80 Question Id : 70819118563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :

Options :

70819160857, * — (A — B)

70819160858, 2+ — (A v B)

70819160859, 4+ —7 (A A B)

70819160860, ©* 7 (A < B)

Question Number : 80 Question Id : 70819118563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A — (B — A) eraitm samibli@ FoMaTONe Samhm
Options :

70819160857, * = (A — B)

70819160858, 2+ — (A v B)

70819160859, 4+ —7 (A A B)

70819160860, -+ 7 (A <7 B)



Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191777
6

Online
Mandatory
10

5

20

Yes

1
7081911057

Yes

Question Number : 81 Question Id : 70819118564 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0 ta n‘fg]
If A= bt

tan ‘IH 1]
\ 2/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

and (I, +A) (I,~A)~!

b
2 L then 13(a2+b?) is equal to

Question Number : 81 Question Id : 70819118564 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



a -b
A= ‘ wHnD (I,+A) (I~ A) 1:{1" aﬂ erafled, 13(a2+b2) -an

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118565 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

=
(]

Let A=

B
S ]

x |, where x, y and z are real numbers such thatx+y+z > 0 and xyz=2.
Y
If A2=I3, then the value of x° 1 1,5 F2is .

]
o]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118565 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



X,y zeranuar ol aarsdr sayb x+y+z >0 wLOMD xYZ=2 FTETHETD

X

-
L

=

A= o arang). A2=L, aafld @+ +2 -ar whoy .

=
(8]
S

ta
[
=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118566 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the system of equations
kx+y+2z=
Ix—y—2z=2

2x—2y—-4z=3

has infinitely many solutions, then kisequalto .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118566 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



kx+y+2z=1
dx—y—2z=2
2x-2y—4z=3

eramn Geflwé swerur () AsrEllng aarembn Sjeysar 2am® eafla, k -6

e — A

AL
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118567 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118567 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1,2 34,5 aamn eramaener uweruBsS 100 -&@n, 1000 -&@w @eaLCw o drer
camseer o (Faunss Gevewt(hb. q(f erewmenent LMILIGWID LwemU(hdS orarenem
2 (HEUNTEES dnl_Ng. GLaIb bs 2 (sl eTam 3 - SDag 5 -6 auEUL

Geuaim(pLd. @)U HenLOWLD 'i-}hml;_hgp cTamsatlel eremmenfldeans

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118568 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let ﬂx "51-),- A .. be squares such that for each n=1, the length of the side of A equal-; the
Iengf.h of dmgnnal of A, If the length of A, is 12 cm, then the smallest value of n for
which area of A is quq than one, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118568 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Ay Ay Ay . GTEITLGT S5ITTRISGE, a‘v'h"'h:‘Jll.;Jb nz1-&@, A, eenn FEITEHam L&HLD

Slh(& FLoWLMELD. A, - LiGa&dar harn 12 G0
’, L s '

<—<~

A, aamn sgnsdlem epaned ol L

araifled, aTbs GanbsuL g n wHUEDE A, eratugen Liy 1 el Goneuns @ méELD

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118569 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=|2x+1/~3x + 2|4 ?+x-2,xc Ris
not differentiable, is
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Let f(x) be a polynomial of degree 6 in x, in which the coefficient of 0 is unity and it has

extrema at x= -1 and x=1If lim ﬂ =1, then 5-f(2) isequal to ___
—0 y
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The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A? is equal to
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The locus of the point of intersection of the lines (/3 ) kx A ky 443 =0 and

\ﬁ r—y—4 xﬁ ) k =0 is a conic, whose eccentricity is __
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vector such thatr x a = ¢ x aandr- b =0, then r- a isequalto .
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